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QUESTION 1

An NSX administrator has observed connectivity issues between the NSX Manager and the KVM Transport Node. 

Which two log files could be used to troubleshoot the issue on the KVM Transport Node? (Choose two.) 

A. /var/log/vmware/nsx-syslog 

B. /usr/vmware/log/syslog 

C. /var/log/nsx/syslog 

D. /usr/vmware/nsx-syslog 

E. /var/log/syslog 

Correct Answer: AE 

 

QUESTION 2

Which three different transport nodes could be configured in the data plane? (Choose three.) 

A. vShield Edge VM 

B. ESXi and KVM 

C. Bare Metal server 

D. NSX Edge VM on KVM 

E. ESXi and Hyper-V 

F. VM or Bare Metal NSX Edge 

Correct Answer: BCF 

 

QUESTION 3

What are the advantages of using a Tier-0 Gateway in ECMP mode? (Choose two.) 

A. stateful services leveraged 

B. Failover of services 

C. traffic predictability 

D. traffic load balancing 

E. increased north/south bandwidth 

Correct Answer: DE 
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From ICM manual: 

Equal-cost multipath (ECMP) routing has several features and functions: 

1. 

ECMP routing increases the north-south communication bandwidth by combining multiple uplinks. 

2. 

ECMP routing performs traffic load balancing. 

3. 

ECMP routing provides fault tolerance for failed paths. 

4. 

A maximum of eight ECMP paths are supported. 

5. 

Hashing is based on 2-tuple IP source and destination addresses. 

6. 

ECMP routing is only available on Tier-0 gateways. 

 

QUESTION 4

When running nsxcli on an ESXi host, which command will show the Replication mode? 

A. get logical-switch status 

B. get logical-switch  

C. get logical-switches 

D. get logical-switch status 

Correct Answer: B 

https://vdc-download.vmware.com/vmwb-repository/dcr-public/cc42e3c1-eb34-4567-a916147e79798957/8264605c-
a5e1-49a8-b603-cc78621eeeab/cli.html#get%20logical-switch%20%3Clogicalswitch-id%3E%202 

 

QUESTION 5

An NSX administrator wants to create a Tier-0 Gateway to support equal cost multi-path (ECMP) routing. Which failover
detection protocol must be used to meet this requirement? 

A. Beacon Probing (BP) 

B. Host Standby Router Protocol (HSRP) 
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C. Bidirectional Forwarding Detection (BFD) 

D. Virtual Router Redundancy Protocol (VRRP) 

Correct Answer: C 

 

QUESTION 6

Which three steps must be carried out to configure North-South / East-West Network Inspection? (Choose three.) 

A. Service Deployment 

B. Service Insertion 

C. Service Consumption 

D. Service Registration 

E. Service Introspection 

Correct Answer: ABE 

 

QUESTION 7

Which two tools are used to configure centralized logging in NSX-T Data Center? (Choose two.) 

A. vRealize Network Insight 

B. vRealize Automation 

C. vRealize Log Insight 

D. Syslog Server 

E. vRealize Operations 

Correct Answer: CD 

 

QUESTION 8

Which statement describes the VMware Virtual Cloud Network Vision? 

A. Virtual Cloud Network connects and protects virtual machines running in KVM environments. 

B. Virtual Cloud Network connects and protects virtual machines running in vSphere environments. 

C. Virtual Cloud Network connects and protects applications, regardless of their physical locations. 

D. Virtual Cloud Network connects and protects applications and data, regardless of their physical locations. 

Correct Answer: D 
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QUESTION 9

Which Network and Security virtualization solution provides network hybridity and mobility? 

A. VMware HCX 

B. VMware Tanzu Service Mesh 

C. NSX Advanced Load Balancer 

D. NSX Intelligence 

Correct Answer: A 

 

QUESTION 10

An NSX administrator noticed that the nsxcli command times out after 600 secs of idle time. 

Which CLI command disables the nsxcli time out value on NSX Manager? 

A. set cli-timeout 0 

B. set cli-timeout enabled 

C. set cli-timeout disabled 

D. set cli-timeout 1 

Correct Answer: A 

https://vdc-download.vmware.com/vmwb-repository/dcr-public/cc42e3c1-eb34-4567-a916147e79798957/8264605c-
a5e1-49a8-b603-cc78621eeeab/cli.html#set%20cli-timeout%20%3Ctimeout% 

3E 

https://www.virten.net/2020/06/quick-tip-remove-nsx-t-ssh-and-http-session-timeout/ 

 

QUESTION 11

Which TraceFlow traffic type should an NSX administrator use for validating connectivity between App and DB virtual
machines that reside on different segments? 

A. Multicast 

B. Anycast 

C. Unicast 

D. Broadcast 

Correct Answer: C 
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QUESTION 12

Which three functions require a Services Router (SR) component on an Edge node? (Choose three.) 

A. Service Insertion 

B. Distributed Routing 

C. Packet Forwarding 

D. Gateway Firewall 

E. Distributed Firewall 

F. Virtual Private Network 

Correct Answer: ADF 

 

QUESTION 13

Which tool injects packets and provides various observation points along the packet\\'s path between two NSX-T
managed objects? 

A. SPAN mirrors 

B. Port Mirroring 

C. Traceflow 

D. IPFIX 

Correct Answer: C 

Reference: https://www.google.com/url?sa=tandrct=jandq=andesrc=sandsource=webandcd=7andved=2ahUKEwjw0
duct_nmAhUJ1BoKHVrgACcQFjAGegQIBxACandurl=ftp%3A%2F%2Fftp.inwinstack.com%2 FOther%2FAINSX-
T%2FVMware% 2FVMWare%2520NSX-T%2FDocuments%
2Fnsxt_21_admin.pdfandusg=AOvVaw2DqQfqPkhzWQfiJP2SgNbO 

 

QUESTION 14

An NSX administrator has configured a load balancer virtual server on a Tier-1 Gateway. 

In order to advertise the load balancer virtual IP to the Tier-0 Gateway, which route advertisement 

configuration has to be done on the Tier-1 Gateway? (Choose two.) 

A. Advertise All LB SNAT IP Routes 

B. All Static Routes 

C. Information 
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D. Advertise All LB VIP Routes 

E. Advertise All NAT Routes 

Correct Answer: AD 

https://docs.vmware.com/en/VMware-NSX-T-Data-Center/3.0/administration/GUID-
EEBA627A-0860477A-95A7-7645BA562D62.html 

 

QUESTION 15

Which statement is true about an alarm in a Suppressed state? 

A. An alarm can be suppressed for a specific duration in days. 

B. An alarm can be suppressed for a specific duration in minutes. 

C. An alarm can be suppressed for a specific duration in seconds. 

D. An alarm can be suppressed for a specific duration in hours. 

Correct Answer: D 

https://docs.vmware.com/en/VMware-NSX-Intelligence/1.1/user-guide/GUID-
EBD3C5A8-F9AB-4A22BA40-92D61850C1E6.html https://docs.vmware.com/en/VMware-NSX-T-Data-
Center/3.0/administration/GUID-EB1BB1D3-88924890-BE74-EF43CFC75F19.html 

"If you move an alarm into a Suppressed state, you are prompted to specify the duration in hours. After the specified
duration passes, the alarm state reverts to Open. However, if the system determines the condition has been corrected,
the alarm state changes to Resolved." 
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